0.5 1 1.5

N (107" erg cm™%787")
0

f) (107" erg cm™%7'87")
0.5

1]

0.5

1, (1077 erg em™%7'87")

0.5

f, (1077 org cm™%~'87")
0

-0.5

rm696 NLR 1640n 1640.42

rm696 NLR 1909n 1908.73

WinHW 900 km/s 1636 1645 S/N 0.0158
T
fms 427(466£71) [
[ [mad 361(398+69) 0.0(1.7)E-17| ]
hvg 13(~524151) | 690(691::406) ~
of\ 70(-63£213) > 311(234£710) L
[ 13(—125£513) ] -
)
¢ 8
£ oz
L 1s .
pot [
3 EE
e o
3
1o
m
-500 [} 500
velocity (km/s) z=1.216200 velocity (km/s) z=1.216200
rmB9B NLR [NeV] 3346.82 rmBo6 NLR 3427n 3426.84
WinHW 900 km/s 3337 3357 S/N —0.00511 WinHW 900 km/s 3417 3437 S/N 0.000654
T T T T
rms 0(480+76) | | | Fogs 0.0(1.7)E-18 s 0(479+79) | | | Fogs o.o(z.s)E—1E
mad 0(41173) -0.0(1.7)E-18 od 0(402+77) 0.0(2.6)E-1
avg -857(~334167) | ] | | fwhm 69(696:559) -~ alg -B99(e2+166) | | fwhm 68(666+503)
L [med —s22(-512238) > 69(226+787) J L2 e —aes(1502225) > 69(245:661) J
top —B822(-123+570) | | | | +- dp —865(269+483) | | |
¢ 8
£ o
g =
hot [
2 <
e o
]
=1
m
-500 [} 500
velocity (km/s) z=1.216200 velocity (km/8) z=1.216200
rm696 NLR 3870n 3869.85 rm6o6 NLR 3989n 3068.58
WinHW 900 km/s 3858 3881 S/N 0.189 WinHW 900 km/s 3957 3981 S/N 0.0128
T T T
DE=] rms 0(456+74) | | | ' Fogs 0.0(3.7)E-18
0.4(2.1)E-1 mad 0(380+71) . 0.0(3.7)E-18
alg 67(152182) | | m 315(733*60‘) 2 | {ove -8sst-191 +130] [ . fwhm 68(536+417)
I nled —66(27:250) > 315(245:848) % 21 med —824(-267x188) ' > 69(227488)
dp —140(41+614) > top —324(—517*3“)' | |
1
¢ §
£ oz
g =
p o
=
- ]
2
3
=1
m
-500 o 500
velocity (km/s) z=1.216200 velocity (km/s) z=1.216200
rm6o6 NLR 4103n 4102.89 rmBo6 NLR 4342n 4341.68
WinHW 900 km/s 4091 4115 S/N —0.00345 WinHW 900 km/s 4329 4355 S/N —0.0152
T T T T
s 0(477+76) | | | | Fegs o.o(1.s)E—1l: Ims 0(44571) | | | | Fogs 0.0(2.5)E-18
ad 0(405+72) -0.0(1.9)E-1 Inad 0(375+68) -0.0(2.5)E-18
g —807(10£158) | | | | fwhm 69(711+50§) 2| e -erassaiz | | | | fwhm 69(638::432)
L red —862(25:216) > 69(2452713) % 2} e —840(-412185) > 69(234+599) |
- op —840(~78+431) [ ] |
1
L 5 .
£ oz
g =
hot o
3 =
- ]
2
3
=1
m

velocity (km/s) z=1.216200

velocity (km/s) z=1.216200

BLR 13870 NLR 900 km/s BLR 13870 NLR 900 km/s BLR 13870 NLR 900 km/s

BLR 13870 NLR 900 km/s

f) (107" erg em™2787")

f\ (1077 erg em™2~87")

f\ (1077 erg em™%7'8"7")

WinHW 900 km/s 3194 3214

m696 NLR 3204n 3204.07

S/N 9.27E-05

T
rms 464(470+75)
mad 426(40173)

[

o || ava —104(272162)
S H med —174(272229)

top 338(30540)
ol

I/II

—500

velocity (km/s) z=1.216200

rmB96 NLR [OL] 3728.48

o | [ava 70(e0x69)

S | |med 38(56240) .
top 41(39+66)

o

WinHW 900 km/s 3717 3740 S/N 2.20
T T
rms 236(329£53), | | : 4(2.6)E=18
mod 166(247:45) 5.5(2.6)E-18

. fwhm 354(408+132
> 354(349+90)] ]

WinHW 900 km/s 4061 4086
T

velocity (km/s) z=1.216200

rmég6 NLR 4074n 4073.63

d/a 95(—106186) |

ST rhed 142(—136+264) H
bp 559(—2802611)
o 1
-500 0 500
velocity (km/s) z=1.216200
rm6é96 NLR 4364n 4364.44
WinHW 900 km/s 4351 4378 S/N 0.0143
T T
rms D(458+71) || | | Fegs 0.0(3.6)E-14
mad 0(386+68) 0.1(3.6)E-18

avg -854(1224145)
med —B20(161£200)
top —820(324:+443)

0.5
T

| fwhm 69(633+459)
> 69(231+615) J

velocity (km/s) z=1.216200

BLR 13870 NLR 900 km/s BLR 13870 NLR 900 km/s BLR 13870 NLR 900 km/s

BLR 13870 NLR 900 km/s



